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Please check whether you have got the right question paper. _
N.B: L. All questions are compulsory cany_il:i_'g;?lﬁﬁ;]}@aifks'é:_ac_h._. e
2. Working notes and assu mptions,«ﬁhiiﬁld*]‘r‘pﬁi:i)a rt 'df@‘iﬁ%ﬁs’me;u

3. Use of simple calculator is allgﬁ‘gﬂl{?} AT ST o ST

¥ -

Q.1 (A) Abhinav and Raghay Industries Ltd. is considering two mutiﬁdl'wiﬁgsrv;?::b'f‘bjébté_Lny.es;fl‘nents g[l‘q.er S 15

X . ] P ts sy e & a8 P F S s e AN VT D
Rs. 495 lakhs in fully automatic machines or Rs. 350 !akhs‘:n‘sg@g‘ﬁ}gmaptc-m' chine. The .expe"‘g&b;!-.‘b\soﬁts
before depreciation and income tax for next 5 years of opefatgibg»\a‘re @épx’@;‘eﬁ:ﬁeloﬂiﬁ_: PV(PreséntValue)
of Rs. 1 @ 10% for 5 years <M FEPF S LG s AT

Estimated profit before Depreciation & 5
]:come Tax Sl O el ol
YEAR | PVof Rs.1 @ Fully Automatic machine ‘Semi-Automatic | -
10% discount | (Rs. in lakhs). = < machine- < i
factor (Rs. in fakhs)i™ ¥
1 0.909 125 S =980 W Y
2 0.826 S ST ISDT vE s
3 0.751 RS AR
4 0.683 e b G
5 | o1 = S S

year. The company--p',rgvi.désﬂgﬁgé_{:‘jﬁi\_ nonmachingry @ 15%0n:writter

income tax @ 35%. You are __ré_quigé'd;ft;{é[chfbiﬁg’r\i_gf 'P};eéé_n‘t Va

project @ 10 %discolinting fattors: S a8 SRR
Note: 1, You'are todt calCylations upto M’@Beei\r\ﬁal places.

2 You-are required to off, FHOUr eomments as to
 mansgement focnvesmenty,
AR, & i ~
:-II:.,G-"‘.,-- I-S % Y :-:‘e -‘\'}-‘%g_’ LP VN
(B) Sangeeta Indust fais considering tivo nifgtggil.y;bxclusive project for investments, either Rs. 195 fakhs 15

_.-_-5';in_.fu!\lv?;,u‘_fgﬁ;n\?figi'r[}g hiiﬁ;@:gﬁﬁs;\ﬁ;gﬂgkﬁﬁgfse_fﬂﬁa utomatic machine. Both the machines have scrap value
% __a_f_t,ﬁ'e;e;ﬁ_d‘igf?g‘ight“g,éqﬁ to their respective written down value. The expected profits before depreciation

" sandincome Laxare as follows. Bresent value of Rs 1 @ 10 % rate for 8 years

— o v o o Estimated profits before depreciation and Income Tax.
s p P g Jg_qjly'r Automatic Semi-Automatic ‘l

“‘_.\I.'\

Machine(Rs. in lakhs) Machine(Rs. in lakhs)
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(8] Apple Ltd. wants‘you t5 pre

The company provides depreciati
income tax @ 39%. You are requi
2ach projects @ 10% discounting factor
Note:1, You are required to do all

ppliers o'ffer_-s"discollnt:as -b’e’l_dw:

Order quantity (unit) Discount%.. | S
4500 - 5999 R S
6000 and above v

(B) Afirm purchases 2,000 units of a pa.r_'t-i'c'ﬂhl::i-rs’i_t'e:ms peryear at an unit:cost.of Rs. 20. The ordering cost is
Rs. 50 per order and the inventorw&,ani,ri’ng:@ﬁ_s__t is 25%. 5ei_me the Economic order quantity and the
minimum total cost including purchase cost. - ¢ NN ;
fa 3% discount is otfered by the supplietfor purchase inlc
offer_ [N PN 2 TS

2 '55#;4;006 _Uh}fs_,_shoufd the firm accept the

.
;

network  of dealers, Its present sale is Rs 60 13
contemplating an.increase.in the credit perio Witk
70% of sales and total fixed costs Rs. 8Jakh 1
investment @ 25%(based on averas
as under:- 70 =
Proposed .
credit policy” | pi

Q.3 (A) Sujhata Garments Ltd.'-rhanuFa_'ctafé'rf"ré'ﬁdi:!}nié\d.é'_-:ga'r‘r:ﬁﬁ”ri_&:g&gj sells:them-on credit basis through a

00| Expected Annual
Y “sales (Rs. in fakhs)

F3 657 T
I o Sk 70,
SRS 74

" JUE L :

Which credit pofiey shoud the cc nbany ado
two digits aftendecimal - < T

Septehiﬁéf,;-fé(?’fﬁ."'\’

2016 = [ 5§ Wage Other
expenses (Rs.) Expenses(Rs.)
Aprils o TS 20,000 15,000 10,000
May 20,000 15,000 10,000
June o° 5= 40,000 15,000 15,000
Chaly 50,000 25,000 20,000
August’ - 5 70,000 25,000 20,000
September [ = 1,60,000 60,000 30,000 20,000
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a)
b)
c)
d)

e)

1.4 (A) State whether the following statements are True or False.

1)
2)
3)
4)
5)
6)
7)
8)

(B) Match the following:

SO — _A%f;—:., — _____amuﬂﬁr,_,__ —
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-
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Sales are 20% cash and the balance at two months credit.
Purchase are at one month’s credit subjects to a cash dlscount of 5 %.
Wages are paid 1/2 months in arrear and other expenses are paldone month in arrear

During August 2016 the company pays a dividend of 15 % on jts' ‘equity capital of Rs. 2, 00 OOB%BCI

during September 2016 paid installment of Rs. 25,000 tcrblant purchased SR =
It is expected that at the end of June, 2016 there will: becash balance of 14, 000

Interest on debentures is a tax deductible: expens i -
Capital budgeting is done to evaluate short term: mvagtrgent proposals.
Permanent working capital is the maxirmum capital. thqf must be maintained.
Stock of finished goods should be valued at cost of grq;fur.uon

Reduced payment of dividend ampruves Tiguidity. - N
Raw materials is not a part of inventory.
Default cost is the cost of re;é[\;éb_lé_‘;:: =
Depreciation is an internal source of finance.

Group A ' 2 Grouﬁg \ N

Negative working ~Nen Refundable b,
capital "< e : '

S Pl Pcsaesswnof w. T the borrower
Equity share capital - _- “Technia Ny e

..-'

Added toJ &stgearr a

Q.4 (B). Shortnotea jz.'[le'gﬁQ~ Ry SFADEES .
i

ii)
iif)
)
)

= Fluctuation.in prices - .
* Hypothecation M ENTACT - ﬁ&llaﬂ\le f@’ﬁ:twe“ A
= ABC Analysis : ""a} uﬂ&cés‘?@ftﬁrrent Lrabl‘l‘ﬂ?es over Current
r & E As & -
= Cost of storage ”‘@dymg Cost.
ELE 5 ; 3 L ._’J‘oa_.__Or_deri_ng.Co_st._ 5
PN : -
& : ,?-QR .
3‘1@ _‘E%' SFE = v

~ “Need for short term Fmanclng" e,
Factors d&grmlnmg workmg capital- Requrrements
_'Sl;[ectlon criteria for: marketable securities
~ ~Motives for _hol_dm_g,;_
~VED Analysis.
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